FIN 332
Activity 5.3
Please use MS Excel to answer the following questions. Please upload the excel file onto Canvas.
Different loans
Mr. Billy Rajaratnam has enticed Mr. Andrew Harker to give him loan of $ 10,000. Mr. Harker is a senior executive at JP Morgan Chase. Since Mr. Harker has successfully passed his Corporate Finance class and asks Mr. Rajaratnam to sign a binding contract on how to repay the loan. Mr. Harker offers Mr. Rajaratnam four repayment options:
a)	Discount loan (interest and principal at maturity): 
Step 1: Enter the beginning balance of zero at the beginning of period zero in cell C4.
Step 2: D4 = C4 * annual rate of interest (G1). Fix the cell G1
Step 3: End of period zero or beginning of period 1, the balance in cell E4 is the value of the loan ($ 10,000)
Step 4: Enter the payment in cell F4 (in this case the money is borrowed: so 10000)
Step 5: Beginning balance in C5 is the same as ending balance in E4
Step 6: interest accrued in D5 is C5 * G1 (fixed). Copy the formula down from D4.
Step 7: Ending balance in E5 is the sum of D5 and C5 and the payment F5
Step 8: Payment is zero in F5
Step 9: Repeat steps 5 – 8 until all cells are filled except F9, which is now negative of E9

b)	Constant interest or interest only (interest is paid every year, but principal is paid at the end)
Step 1: Enter the beginning balance of zero at the beginning of period zero in cell I4.
Step 2: J4 = I4 * annual rate of interest (G1). Fix the cell G1
Step 3: End of period zero or beginning of period 1, the balance in cell K4 is the value of the loan ($ 10,000)
Step 4: Enter the payment in cell L4 (in this case the money is borrowed: so 10000)
Step 5: Beginning balance in I5 is the same as ending balance in K4
Step 6: interest accrued in J5 is I5 * G1 (fix) (copy the formula down from J4)
Step 7: Ending balance in K5 is the sum of I5,  J5 and L5
Step 8: Payment is interest (i.e. minus of J5) in L5
Step 9: Beginning balance in I6 is ending balance in K5
Step 10: repeat these steps 6 through 9 until the end, when payment is made in full in cell L9 (i.e. L9 = -(I9+J9))

c)	Constant payments or fully amortized loan:
Step 1: Enter the beginning balance of zero at the beginning of period zero in cell C14.
Step 2: D14 = C4 * annual rate of interest (G1). Fix the cell G1
Step 3: End of period zero or beginning of period 1, the balance in cell E14 is the value of the loan ($ 10,000)
Step 4: Enter the payment in cell F14 (in this case the money is borrowed:  so =E14)
Step 5: Beginning balance in C15 is the same as ending balance in E14
Step 6: interest accrued in D15 is C15 * G1 (fix) (copy the formula down from D14)
Step 7: Ending balance in E15 is the sum of D15 and C15 plus the payment made in F15
Step 8: Payment is calculated in cell F15 using the pmt function (rate in G1 (fix), nper in B19 (fix) and loan PV of minus F14 (fix), FV is zero)
Step 9: Beginning balance in C16 is ending balance in E15
Step 10: repeat until the loan is paid off in the final period

d)	constant principal
Step 1: Enter the beginning balance of zero at the beginning of period zero in cell I14.
Step 2: J14 = I14 * annual rate of interest (G1). Fix the cell G1
Step 3: End of period zero or beginning of period 1, the balance in cell K14 is the value of the loan ($ 10,000)
Step 4: Enter the payment in cell L14 (in this case the money is borrowed:  so 10000)
Step 5: Beginning balance in I15 is the same as ending balance in K14
Step 6: interest accrued in J15 is I15 * G1 (fix). Copy the formula down from J14.
Step 7: Ending balance in K15 is the sum of J15 and I15 and payment in L15
Step 8: Payment is interest (i.e. minus of J15) and minus of (k14/H19) ← fix these two cells in cell L15
Step 9: Repeat until the last payment is made in L19



e)	Please fill table (as follows) in excel for parts “a” through “c” in which you should show the total principal repaid and total interest paid under all three loans.	
	Repayment Plan
	Annual Payment
	Total Interest
	Principal repaid
	Total Repayment

	Discount
	=F5
	=sum(D5:D9)
	=-F4
	=sum(f5:F9)

	Interest only
	=L5
	=sum(J5:J9)
	=-L4
	=sum(L5:L9)

	Amortized
	=F15
	=sum(D15:D19)
	=-F14
	=sum(f15:F19)

	Constant principal
	variable
	=sum(J15:J19)
	=-L14
	=sum(L15:L19)
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